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Faults (PC): [0.11588093, 3.8852762]
i : 933, 0.0111269] |

Shot #: 2606, Param Tree: 72

= Overcurrent Trip (DCPS)
F Auctioneered Data (idl)

E Conditioned Data (DCPS), Limits: [-1.5080@#0, 15.000Q00]

T

llllllll

llllllllllllllllllllll

-4 -2 0 2 4
time

(o]

_"Action (idl), Max = 901.385, End Val.= 901.385
L Full Action (idl), Limit = 1240.00, Max.=902.204, End Val. 901.385
L Shot #: 2606, Param Tree: 72

llllll

llllllllllllllllll

lllllllllllllllll

-4 -2 0 2 4

(o]

time
E_IDL, Circular, [-25.9930, 0.0119212]
DCPS, Circular, [-25.993037, 0.011921209]
IDL, Shaped [Displaced], [-25.9927, 0.0128882]

DCPS, Shaped [Displaced], [-25.992718, 0.012888215]
Shot #: 2606, Param Tree: 72
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